© Houghton Mifflin Harcourt Publishing Company

Date

Dividing numbers involves dividends, divisors, and
quotients.

Write a division problem (including the quotient) that
satisfies all three statements.

1. The dividend is a one-digit whole number.
The divisor is a one-digit whole number.
The quotient is a one-digit whole number.

2. The dividend is a two-digit whole number.
The divisor is a one-digit whole number.
The quotient is a one-digit whole number.

3. The dividend is a two-digit whole number.
The divisor is less than 1, and a number in tenths.
The quotient is a two-digit whole number.

4. The dividend is a two-digit whole number.

The divisor is greater than 1, and a number in tenths.

The quotient is a two-digit whole number.

5. The dividend is a number in tenths.
The divisor is a one-digit whole number.
The quotient is a number in tenths.

6. The dividend is a decimal in hundredths.
The divisor is a decimal in hundredths.
The quotient is a one-digit whole number.

7. The dividend is a decimal in hundredths.

The divisor is a decimal in hundredths.
The quotient is a two-digit whole number.
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quotient

divisor) dividend

Show your work.

Focus on Mathematical Practices 119



